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YOU CAN BET .

3100 $200 $300  Perquestiox

1K you 9gt the questiow correct, you winas Much as you bet.

1K you agt the questioniicorrect, you lose as Much as you bet.

YOU READYe?/?/
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GGame ov... v

QuesTiowv |:

Sometimes, Always, Never

The number of diagonals in a
polygon is equal to the
number of vertices the
polygon has.

AVSWER |:

Sometimes, 5lways, Never

The number of diagonals in
a polygon is equal to the
number of vertices the

polygon has.  when ws a pentagor ©

#of diag = G____(f'3

-

QUESTION 2:

The exterior angle of a
triangle is larger than any
interior angle.

ANSWER 2.:

@Always, Never

Consider :

25"
140’/ 40

N\

only ALWAYS u;yer'hw
remole nfurio
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QuesToy 3:

Find the sum of the
measures of the angles
of a decagon

AVSWER #3:

Find the sum of the
measures of the angles
of a decagon

Si = 180(n-2)
=180(10-3)
=180 (8)
= |||+'+O l

QuesTow -

What is the name of the polygon
that has 104 diagonals?

AVSWER #4-

What is the name of the polygon
that has 104 diagonals?

¢ = oo
diag 3

o = nin-3 -3)
2

208=n>-3n
o= n"—3n'7/-o\s
~le 13
0= (n-16)(n+13)
n= |l!,-|3

QuEsTION #5:

How many sides does a
polygon have if the sum of
the measures of its angles
is 1620?

AVSWER #5:

How many sides does a
polygon have if the sum of
the measures of its angles
is 1620?

S, = 180(n-2)
1620= 180 (n-2)

=h-2 .
% | sides

N=n




QUESTION #6:

What is the Measure of
fhe exterior ao)e of a
reqular vovogoy
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AVSWER #6:
What is the Measure of

fhe esterior awe of a
reqular voNogon

E = 3629
q

QuesTioN #T7-

A reaplar polyapy has
ay exferior ayoJe of 18
degrees. What is the
vame of the polyoone

AVSWER #1-
A regglar polyooy has ay
ex'\'ere&r aﬁ; ON
dedyees is the
NaMe of the ‘)’Q,ov?
A20-GOV

QuesTiow #3:

A regglar polyooy has
ay ivterior axe of 165
degsees. What is the
vaxe of the polyooyv

AVSWER #3:

A regglar polyaoy has ay ivterior
ao)e of 165 deayees. Whatis
fhe vame of the polyopy?

nt: 165 €e=360
ext:15 A
15 = 360
n
§n=3bo
nsa"l‘
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QuesTIoN #9-

How Mayy sides does a
heptagpy have? How
mayy diagorals does it
haver

AVSWER #9-
1 sides
k) d|a%ova|s

#of diag = "L)

QuEsTION #10-

Part of the formula for the
number of diagonals of a
polygon is (n-3). What does
this quantity represent?

ANSWER #10:

Part of the formula for the
number of diagonals of a
polygon is (n-3). What does
this quantity represent?

als
wot R e
vertices h(n-3) Ln-z) r:um j
2
trcpeafs

QuEsTION #I]:

Given that I, M, N are midpoints and the
perimeter of triangle BAG is 148. Find
the perimeter of MIN G

AVSWER #]1:

Given that I, M, N are midpoints and the
perimeter of triangle BAG is 148. Find
the perimeter of MIN G

PWN m—l | M
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QuesTiov #12:

Given: E_E bis. 4€BC
CF bis. aBCE
ABCO is atrap.

€

Find: XBEC, 4BFC
D

ANSWER #12.:

GNG’" 9——; bis. 4530
OF bis- 2BCE

ABCO is atrap. €

BFC
o'

2 (]

Find: XBEC, 4
Cee) I
u*_zy*bo‘;lso
2% .,1\I=l'20
xey=

QuesTiov #13:

Given: 45247
aw=40""' o \
xR = 120" 14’ )
qV= 129° 40’ ___./
Find XS ; '

' w
aw=40' g
xR =201+ i
V= 12q° 40’
Find XS ; ’
w, 5, = 180(n2)
‘:*:. ::' = 180 (5-2)
129° 40’ = Guo 1a4.6°as’
s 531760, -°
28a°70" = 290°10’ 2010’ f o
244°50'+2




